Statistics and chance

Mrs Bean’s class voted for the fruit they liked best.
They had four choices. They could only vote once.

apple sl v v v v v vV
orange (v v v v

pear vvvvy

banana | v v v vV vV V VvV V V

How many children are in the class?
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E Statistics and chance Extension

Mrs Bean’'s class voted for the fruit they liked best. -
They had four choices. They could only vote once.

apple vv v v vy
orange | v v v v

pear vvvvyvy
banana | v v v vV VvV VY

What is the difference between the most
popular and least popular fruit?
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Measurement and geometry

A bunch of five bananas has a mass (weight) of 600 grams.
Two crisp red apples weigh a total of 144 grams. Two small
oranges together
weigh 192 grams.

Which piece of fruit
weighs more—one
banana, one apple

or one orange?
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@l Measurement and geometry

A bunch of five bananas has a mass (weight) of
600 grams. Two crisp red apples weigh a total of
144 grams. Two small oranges
together weigh
192 grams.

If all nine pieces
of fruit were
weighed together,
how much would they
weigh, in total, in grams?
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Measurement and geometry

Mira wants to make her own dice by cutting out and folding a cardboard
template.
Which template should she NOT choose?

A B &
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Extension

Measurement and geometry

Mira wants to make her own dice by cutting out and folding a cardboard

template.

Which templates cannot be used to make a cube?

A B C D
E
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Number and algebra

A farmer has 45 cows, 16 chickens
and 30 sheep on his farm. The farmer
collects 20 L of milk from each cow
and six eggs from each chicken per
week. The farmer receives nothing

from his sheep.

How much produce will the farmer
collect in total from the cows and the
chickens each fortnight?
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Number and algebra Extension

A farmer has 45 cows, 16 chickens
and 30 sheep on his farm. The farmer
collects 20 L of milk from each cow
and six eggs from each chicken per
week. The farmer packs a dozen eggs
into cartons and fills 150 L storage
containers with milk.

How many cartons and how many
storage containers is he able to fill each
week?
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Statistics and chance

Northshore Knights game statistics from Match 13

Player Points Fouls | Player Points Fouls
Johnson 3 1 Smilek 2 0

Akubra Fontini 6
Calista Spellman 8
Li Alvarez 7
Kuta Zuniga 12
Zanini Anderson 25
O’Laughlin MacGinty 11

What percentage of the total point score did Akubra, Calista and Smilek
contribute?
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Which is greater:

(a) the difference
between the
most common
points scored
and the
average points
scored; or

(b) the difference
between the
most frequent

Statistics and chance

Extension

Northshore Knights game statistics from Match 13
Player Points Fouls | Player Points Fouls
Johnson 3 1 Smilek 2 0
Akubra 2 0 Fontini 6 1
Calista 2 0 Spellman 8 1
Li 1 1 Alvarez 7 0
Kuta 6 2 Zuniga 12 0
Zanini 9 0 Anderson 25 0
O’Laughlin 2 & MacGinty 11 0

fouls and the average number of fouls?
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Statistics and chance

w
o

The school has taken meal
orders for Class A's children
attending their graduation
ceremony and dinner. These
meal orders are presented
on the graph.

Number of children

w

What percentage of children,
to two decimal places, are
eating each type of meal?

Roast dinner
Thai curry
Chinese dish
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Statistics and chance Extension

The school has taken meal orders 3
for Class A’s children attending their = ,,
graduation ceremony and dinner. 2
The roast dinner and lasagne are ;
served on plates and eaten with -g 2
knives and forks. The Thai curry and =
Chinese dish are served in bowls 3
and eaten with pairs of chopsticks. = 5 S
The pizza is served on wooden g 5 &
platters and eaten with the fingers. s é’
=
o
How many plates, bowls, wooden Meals

platters, knives, forks and pairs of
chopsticks are required?
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